MATHS

BOOKS - ASHOK PUBLICATION ASSAM

Linear Equations in one variable

1. Solve the following equations.

r—2=7

[ o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CwSPAspCfNWj

2. Solve the following equations.

y+ 3 =10

° Watch Video Solution

3. Solve the following equations.

6=2z-+2

o Watch Video Solution



https://dl.doubtnut.com/l/_CwSPAspCfNWj
https://dl.doubtnut.com/l/_LyjkzB3LTqRt
https://dl.doubtnut.com/l/_VK3DKDuPxSZl

4. Solve the following equations.

3 17
—+.’L':—

7 7

° Watch Video Solution

5. Solve the following equations.

6x = 12

o Watch Video Solution



https://dl.doubtnut.com/l/_q91zNqQb6ctL
https://dl.doubtnut.com/l/_Y3tasFQzxbNC

6. Solve the following equations.

t
~ -1
E 0

° Watch Video Solution

7.Solve the following equations.

2z

=1
3 8

o Watch Video Solution



https://dl.doubtnut.com/l/_yWT6obzrg0hJ
https://dl.doubtnut.com/l/_znPqLmsgwpJ6

8. Solve the following equations.

_ Y
16 = =

o Watch Video Solution

9. Solve the following equations.

Tr — 5 =16

o Watch Video Solution



https://dl.doubtnut.com/l/_UVaR3Mt6uA2J
https://dl.doubtnut.com/l/_S7TzZ1va4KuU

10. Solve the following equations.

14y — 8 = 13

o Watch Video Solution

11. Solve the following equations.

174+ 6P =9

o Watch Video Solution



https://dl.doubtnut.com/l/_pXuCKYk8vf3M
https://dl.doubtnut.com/l/_Tnu1woCKuL2r

12. Solve the following equations.

x/3 =1

o Watch Video Solution

13. If you subtract 3 from a number and

1 1
multiply the result by 5 you get R What is

the number?

o Watch Video Solution



https://dl.doubtnut.com/l/_UavKSJOZ9nnF
https://dl.doubtnut.com/l/_LgmbiRU2OuyA

14. The perimeter of a rectangular swimming
pool is 154 m. Its length is 2m more than twice
its breadth. What are the length and the

breadth of the pool?

o Watch Video Solution

: : : .4
15. The base of an isoceies triangle is 3 cm.

2
The permeter of the traingle is 41—5 cm. What

is the length of eigher of the remaining equal

sides?

| & I


https://dl.doubtnut.com/l/_7F1uzAVJJMUB
https://dl.doubtnut.com/l/_ahGXBU7NuRAq

| ¥ Watch Video Solution |

16. Sum of two numbers is 95. If one exceeds

the other by 15, find the numbers.

o Watch Video Solution

17. Two numbers are in the ratio 5: 3. If they

differ by 18, what are the numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_ahGXBU7NuRAq
https://dl.doubtnut.com/l/_N5HkAixFDrPs
https://dl.doubtnut.com/l/_C5t5aXFNPteJ
https://dl.doubtnut.com/l/_8irDChaCJw2O

18. Three consecutive integers add up to 51.

What are these integers?

° Watch Video Solution

19. The sum of three consecutive multiples of 8

is 888. Find the multiples.

o Watch Video Solution

20. Three consecutive integers are such that

when they are taken in increasing order


https://dl.doubtnut.com/l/_8irDChaCJw2O
https://dl.doubtnut.com/l/_96PRumETvaG1
https://dl.doubtnut.com/l/_ZuliN8TRBxo5

andmultiplied by 2,3 and 4 respectively, they

add up to 74. Find these numbers.

° Watch Video Solution

21. The ages of Rahul and Haroon are in the
ratio 5:7, Four years later the sum of their
ages will be 56 years. What are their present

ages?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZuliN8TRBxo5
https://dl.doubtnut.com/l/_A1KdDAco584H

22. The number of boys and girls in a class are
in the ratio 7: 5. The number of boys is 8 more
than the number of girls. What is the total

class strength?

o Watch Video Solution

23. Baichung's father is 26 years younger than
Baichung's gransfather and 29 years older

than Baichung. The sum of the ages of all the


https://dl.doubtnut.com/l/_ib4Naxs7BvIM
https://dl.doubtnut.com/l/_IVXbeP3olShN

three is 135 years. What is the age of each one

of them?

° Watch Video Solution

24. Fifteen years from now Ravi's age will be
four times his present age. What is Ravi's

present age?

° Watch Video Solution



https://dl.doubtnut.com/l/_IVXbeP3olShN
https://dl.doubtnut.com/l/_H70WOwgc8REW

25. A rational number is such that when you
. 5} 2
multiply it by 3 and 3 add to the product,

you get — 1—72 What is the number?

o Watch Video Solution

26. Lakshmi is a cashier in a bank. She has
currency notes of denominations Rs 100, Rs 50
and Rs 10, respectively. The ratio of the

number of these notes is 2:3:5. The total


https://dl.doubtnut.com/l/_66Kp576fzSQg
https://dl.doubtnut.com/l/_fHhY8FKBpl8t

cash with Lakshmi is Rs. 4,00,000. How many

notes of each denomination does she have?

° Watch Video Solution

27. | have a total of Rs 300 in coins of
denomination Rs 1, Rs 2 and Rs 5, the number
of Rs 2 coins is 3 times the numbers of Rs 5
coins. The total number of coins is 160. How
many coins of cash denomination are with

me?

° Watch Video Solution



https://dl.doubtnut.com/l/_fHhY8FKBpl8t
https://dl.doubtnut.com/l/_pGwOJxXtbVIL

28. The organisers of an eassy competition
decide that a winner in the competition gets a
prize of Rs 100 and a participant who does not
win gets a prize of Rs. 25. The total prize
money distributed is Rs 3,000. Find the
number of winners, if the total number of

participants is 63.

o Watch Video Solution



https://dl.doubtnut.com/l/_pGwOJxXtbVIL
https://dl.doubtnut.com/l/_4oUOvyl3Pskx

29. Solve the following equations and check

you results.

3r = 2x + 18

o Watch Video Solution

30. Solve the following equations and check

you results.

5t —3 =3t -9

o Watch Video Solution



https://dl.doubtnut.com/l/_pZfWu2slVaQB
https://dl.doubtnut.com/l/_gg36vqvBGJpL
https://dl.doubtnut.com/l/_sLoXddeaxRec

31. Solve the following equations and check
you results.

5 +9 =5+ 3

o Watch Video Solution

32. Solve the following equations and check
you results.

4z +3 = 6 + 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_sLoXddeaxRec
https://dl.doubtnut.com/l/_26tAtFS8iTU9
https://dl.doubtnut.com/l/_OEvRUnweeDXs

33. Solve the following equations and check

you results.

2c — 1 =14 — x

o Watch Video Solution

34. Solve the following equations and check

you results.

8¢ +4=3(zx—1)+7

o Watch Video Solution



https://dl.doubtnut.com/l/_OEvRUnweeDXs
https://dl.doubtnut.com/l/_80Q9RHgCqof6

35. Solve the following equations and check

you results.
4
T = g(:c + 10)

o Watch Video Solution

36. Solve the following equations and check

you results.

2z T
—+1=—43
3 i 15 i

o Watch Video Solution



https://dl.doubtnut.com/l/_oDbWu3TCALnx
https://dl.doubtnut.com/l/_wt0rJeR7BMaz
https://dl.doubtnut.com/l/_78O4eHhto2an

37. Solve the following equations and check

you results.
o+ 5 26
Y 3~ 3 Y

o Watch Video Solution

38. Solve the following equations and check

you results.

8

3n = dn — —
5

o Watch Video Solution



https://dl.doubtnut.com/l/_78O4eHhto2an
https://dl.doubtnut.com/l/_7N1M7taPU4eo
https://dl.doubtnut.com/l/_sOByyHNyYGLv

39. Amina thinks of a number and subtracts 3
from it. She multiplies the result by 8. The

result now obtained is 3 times the same

number she thought of. What is the number?

o Watch Video Solution

40. A positive number is 5 times another
number. If 21 is added to both the numbers,
then one of the new numbers becomes twice
the other new number. What are the

numbers?

| = |


https://dl.doubtnut.com/l/_sOByyHNyYGLv
https://dl.doubtnut.com/l/_0hykjUedo9U2

I &9 Watch Video Solution I

41. Sum of the digits of a two-digit number is
9. When we interchange the digits, it is found
that the resulting new number is greater than
the original number by 27. What is the two-

digit number?

o Watch Video Solution

42. One of the two digits of a two digit

number is three times the other digit. If you


https://dl.doubtnut.com/l/_0hykjUedo9U2
https://dl.doubtnut.com/l/_cpkXbfr0PliI
https://dl.doubtnut.com/l/_20M1tT8a7YZ8

interchange the digits of this two-digit
number and add the resulting number to the
original number, you get 88. What is the

orginal number?

° Watch Video Solution

43, Shobo's mother's present age is six times
Shobo's present age. Shobo's age five years
from now will be one third of his mother's

present age What are their present ages?

° Watch Video Solution



https://dl.doubtnut.com/l/_20M1tT8a7YZ8
https://dl.doubtnut.com/l/_NUwmv9Y2bCya

44, There is a narrow rectangular plot,
reserved for a school, in Mahuli village. The
length and breadth of the plot are in the ratio
11:4. At the rate Rs 100 per metre it will cost
the village panchayat Rs 75000 to fence the

plot. What are the dimensions of the plot?

o Watch Video Solution

45, Hasan buys two kinds of cloth materials for

school uniforms, shirt material that costs him


https://dl.doubtnut.com/l/_NUwmv9Y2bCya
https://dl.doubtnut.com/l/_MfXgxjgfQmEr
https://dl.doubtnut.com/l/_gBRi1KZsBmVn

Rs 50 per metre and trouser material that
costs him Rs 90 per metre. For every 2 meteres
of the trousers material he buys 3 metres of
the shirt materials. He sells the materials at
12% and 10% profit respectively. His total sale
is Rs 36,660. How much trouser material did he

buy?

o Watch Video Solution

46. Half of a herd of deer are grazing in the

field and three fourths of the remaining are


https://dl.doubtnut.com/l/_gBRi1KZsBmVn
https://dl.doubtnut.com/l/_6baQlPTBd6Bi

playing nearby. The rest 9 are drinking water

from the pond. Find the number of deer in the

herd.

o Watch Video Solution

47. A grandfather is ten times older than his
granddaughter. He is also. 54-years older than

her. Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_6baQlPTBd6Bi
https://dl.doubtnut.com/l/_MbQblrJdCBnQ

48. Aman's age is there times his son's age. Ten
years ago he was five times his son's age. Find

their present ages.

o Watch Video Solution

49, Solve the following linear equations.

1 1
5 4

z Ty
2 3

° Watch Video Solution



https://dl.doubtnut.com/l/_JCKBzozKDWlc
https://dl.doubtnut.com/l/_oVW4VwT9C2zJ

50. Solve the following linear equations.
3n  9n

= 21
4+6

n
2

o Watch Video Solution

51. Solve the following linear equations.

L7 8:13_17 5%
v 3 6 2

o Watch Video Solution



https://dl.doubtnut.com/l/_AdvFopn1PicG
https://dl.doubtnut.com/l/_OZhMm1aWxabL

52. Solve the following linear equations.

w—5_w—3
3 5

o Watch Video Solution

53. Solve the following linear equations.

3t—2 243 2

4 3 3

o Watch Video Solution



https://dl.doubtnut.com/l/_3TXeyZizS9dF
https://dl.doubtnut.com/l/_6XisrRDGfB5z

54. Solve the following linear equations.

m—l_1 m — 2
m 2 3

o Watch Video Solution

55. Simplify and solve the following linear

equations.

3(t — 3) = 5(2t + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_LYpp0vbHCBvn
https://dl.doubtnut.com/l/_Ow2wunw1wAlc

56. Simplify and solve the following linear

equations.

15(y—4) —2(y—9) +5(y+6) =0

o Watch Video Solution

57. Simplify and solve the following linear

equations.

3(6z2 —7) —2(9z — 11) = 4(8z — 13) — 17

o Watch Video Solution



https://dl.doubtnut.com/l/_rVdZ2hJceoOF
https://dl.doubtnut.com/l/_BNWF8HZ9wO0a
https://dl.doubtnut.com/l/_1UXv1i1RZk2o

58. Simplify and solve the following linear

equations.

0.25(4f — 3) = 0.05(10f — 9)

o Watch Video Solution

59. Solve the following equations.

8r — 3 B

2
3

o Watch Video Solution



https://dl.doubtnut.com/l/_1UXv1i1RZk2o
https://dl.doubtnut.com/l/_49sj1AS0m4Ol

60. Solve the following equation

o Watch Video Solution

61. Solve the following equations.

z PR
z+ 15

4
9

o Watch Video Solution

62. Solve the following equations.

Jy+4 -2
2—-6y 5



https://dl.doubtnut.com/l/_SRssxrdVHail
https://dl.doubtnut.com/l/_Mb5CQgo6xzPP
https://dl.doubtnut.com/l/_lbBYgv0gkLil

\ o Watch Video Solution

63. Solve the following equations.

y+4 -4

Y+ 2 3

o Watch Video Solution

64.The ages of Hari and Harry are in the ratio
5:7. Four years from now the ratio of their

ages will be 3: 4. Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_lbBYgv0gkLil
https://dl.doubtnut.com/l/_vLTPsfq7hSAg
https://dl.doubtnut.com/l/_CqxqPRYJWhyY

65. The denominator of a rational number is
greater than its numerator by 8. If the
numberator is increased by 17 and the
denominator is decreased by 1, the number

obtained is 7 Find the rational number.

o Watch Video Solution

66. Solve the following equations and verify in
each case:

x + 28 = 50


https://dl.doubtnut.com/l/_CqxqPRYJWhyY
https://dl.doubtnut.com/l/_7iTAyvM51vbC
https://dl.doubtnut.com/l/_mUuklpagslHi

° Watch Video Solution

67. Solve the following equations and verify in

each case:

x — 35 =234

° Watch Video Solution

68. Solve the following equations and verify in
each case:

—5+ty= —12

| e |


https://dl.doubtnut.com/l/_mUuklpagslHi
https://dl.doubtnut.com/l/_kDCY5uSGeilJ
https://dl.doubtnut.com/l/_CTwIA3QEJtL8

& Wwatch Video Solution ]

69. Solve the following equations and verify in

each case:

—8+z = —2

° Watch Video Solution

70. Solve the following equations and verify in

each case:

2y+3=y—+2

l ° Watch Video Solution


https://dl.doubtnut.com/l/_CTwIA3QEJtL8
https://dl.doubtnut.com/l/_LvIFDfadRADY
https://dl.doubtnut.com/l/_wasq6hZtSyNl

71. Solve the following equations and verify in

each case:

Sy + 9 = 4y

° Watch Video Solution

72. Solve the following equations and verify in
each case:

8+ 1=T7t+5

° Watch Video Solution



https://dl.doubtnut.com/l/_wasq6hZtSyNl
https://dl.doubtnut.com/l/_x8YmHis7pYge
https://dl.doubtnut.com/l/_n1O2aavBzdlv

73. Solve the following equations and verify in
each case:

hz =9+ 4z

° Watch Video Solution

74.Solve the following equations and verify in
each case:

5y —9=3y+1

° Watch Video Solution



https://dl.doubtnut.com/l/_n1O2aavBzdlv
https://dl.doubtnut.com/l/_m4ivNrluN3uR
https://dl.doubtnut.com/l/_U9mNCXIzrV5k

75. Solve the following equations and verify in
each case:

3r = 15 + 2x

° Watch Video Solution

76. Solve the following equations and verify in

each case:

—2y+5= —y+2

° Watch Video Solution



https://dl.doubtnut.com/l/_U9mNCXIzrV5k
https://dl.doubtnut.com/l/_or0Aq3M4nzNq
https://dl.doubtnut.com/l/_wYcxh3gBfPlD

77. Solve the following equations and verify in

each case:

16 = —I—1

o Watch Video Solution

78. Solve the following equations and verify in
each case:

9 — 3x = bx + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_9n49kFzXOQpA
https://dl.doubtnut.com/l/_LUeX7UWGKviF
https://dl.doubtnut.com/l/_JJoCdL9TI8pm

79. Solve the following equations and verify in
each case:

dy = 23

o Watch Video Solution

80. Solve the following equations and verify in
each case:

3r =0

o Watch Video Solution



https://dl.doubtnut.com/l/_JJoCdL9TI8pm
https://dl.doubtnut.com/l/_ggx2SapJSb3p
https://dl.doubtnut.com/l/_gTjMcKYfpTdl

81. Solve the following equations and verify in

each case:
n 5
6 3

o Watch Video Solution

82. Solve the following equations and verify in

each case:
p 2
6 3

o Watch Video Solution



https://dl.doubtnut.com/l/_gTjMcKYfpTdl
https://dl.doubtnut.com/l/_ethrGgwlqu8N

83. Solve the following equations and verify in

each case:
3

4K = —
8

o Watch Video Solution

84. Solve the following equations and verify in

each case:

4

= _9
3y

° Watch Video Solution



https://dl.doubtnut.com/l/_8yBQ3eanFZUg
https://dl.doubtnut.com/l/_AEbkGLGcdIZc
https://dl.doubtnut.com/l/_Jk3SE3UeKQsV

85. Solve the following equations and verify in

each case:
1 8
07 = T3

o Watch Video Solution

86. Solve:

by — 8 =2y+7

o Watch Video Solution



https://dl.doubtnut.com/l/_Jk3SE3UeKQsV
https://dl.doubtnut.com/l/_7Cqlz7cMH0Dw

87.Solve:

x = 10z — 72

o Watch Video Solution

88. Solve:

—6x =20—2x

o Watch Video Solution



https://dl.doubtnut.com/l/_avV3NlIrXjqT
https://dl.doubtnut.com/l/_f4Vn9fHin7a5

89. Solve:

b — 27+ 17T=x2 + 1

o Watch Video Solution

90. Solve:

5z +3) =9

o Watch Video Solution



https://dl.doubtnut.com/l/_SQuePkggMX59
https://dl.doubtnut.com/l/_1NS24O0Jwv16

91. Solve:

23y — 1) = — 26

o Watch Video Solution

92. Solve:

2

o Watch Video Solution



https://dl.doubtnut.com/l/_5xjIhiOdYeWH
https://dl.doubtnut.com/l/_CHrRx518j1BM

93. Solve:

2 +8)+3(x+3) =0

o Watch Video Solution

94. Solve:

5x+1) —(x+2)=0

o Watch Video Solution



https://dl.doubtnut.com/l/_pdlxMISO0lPq
https://dl.doubtnut.com/l/_1i9a8uZc4LrT

95. Solve:

3(z—1)—(z—2) =z +2(x—1)

o Watch Video Solution

96. Solve:
T n H o 1
7 2 4 2

o Watch Video Solution



https://dl.doubtnut.com/l/_SaLXO9VqPNLE
https://dl.doubtnut.com/l/_kYr0jKsdQuEb

97. Solve:

5(x —3) —3(z — 1) = 0

o Watch Video Solution

98. Solve:

T(x +4) = 4(z + 10)

o Watch Video Solution



https://dl.doubtnut.com/l/_VZKo6dpLUPdu
https://dl.doubtnut.com/l/_BdfO5Nx6mlca

99. Solve:

8 8
E+5—§+7

o Watch Video Solution

100. Solve:

a(x —a) = bz — b)

o Watch Video Solution



https://dl.doubtnut.com/l/_ML8a8WHT1kpr
https://dl.doubtnut.com/l/_tXJkGsk0R0vy

101. Solve:

a(x +b) = 2ax + b

o Watch Video Solution

102. Solve: 5x = 35

o Watch Video Solution

103.solve: £ _ 122% _,
.Ove.2 3 =

o Watch Video Solution



https://dl.doubtnut.com/l/_tBd6SVI9EQC5
https://dl.doubtnut.com/l/_oWpnbBUEtgSe
https://dl.doubtnut.com/l/_3bgMvNRlj7By

104.Solve: 3x-8=x+ 16

o Watch Video Solution

r — 3 4 — x 3x +1
105. Solve: 5 T T = 10

o Watch Video Solution

3 +5 2:1:—3_:13—2

106. Solve: 5 5 5

o Watch Video Solution



https://dl.doubtnut.com/l/_3bgMvNRlj7By
https://dl.doubtnut.com/l/_aobJLwqrqPk9
https://dl.doubtnut.com/l/_Ny0qf0TPCzcc
https://dl.doubtnut.com/l/_epRC2X0uwqu2

20 — 4 T — 9

107. Solve: — 3z —1) = -
o Watch Video Solution
10850Ive-x _ 2 + T _o % i oz
' "2 3 4 6 | 12

o Watch Video Solution

109. Solve: —11x + 2(3 — x) = 32

o Watch Video Solution



https://dl.doubtnut.com/l/_epRC2X0uwqu2
https://dl.doubtnut.com/l/_04nJ490AcjLf
https://dl.doubtnut.com/l/_VN1aLJFlnZ3J
https://dl.doubtnut.com/l/_pMklXxB9W0rq

110. Solve: 4(2 — z) + 2(3 — 3z) = 30

o Watch Video Solution

111.Solve: 4(p + 3) — 5(1 — p) = 2(3p + 11)

o Watch Video Solution

112.Solve: 5(z — 2) —4(z —2) =2 —«x

o Watch Video Solution



https://dl.doubtnut.com/l/_pMklXxB9W0rq
https://dl.doubtnut.com/l/_meOESe6YMCyh
https://dl.doubtnut.com/l/_RoGW5i2ckQW8
https://dl.doubtnut.com/l/_ww5mGkEj0tEB

7
113. Solve: % —(z—2)=2- %

o Watch Video Solution

1 1 1
114. Solve: Tt - = —
r—1 2 3

o Watch Video Solution

1 1
115. Solve: =
3(z — 3) 5(x — 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_ww5mGkEj0tEB
https://dl.doubtnut.com/l/_iS9LH1jjS3M3
https://dl.doubtnut.com/l/_rb7k4WvzQl4b
https://dl.doubtnut.com/l/_mp4iHjYZx5he

116. Solve: 18x = 54

° Watch Video Solution

117. Solve: 12x + 9 = 45

° Watch Video Solution

118.Solve: 5(z — 2) = 3(z + 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_mp4iHjYZx5he
https://dl.doubtnut.com/l/_d0V7nisRpZHG
https://dl.doubtnut.com/l/_0BVG9UWb1TJW
https://dl.doubtnut.com/l/_TrsZALHj6H0r

119. Solve:

(z+2)(3x +4) — 6z =10+ (3z + 2)(z + 1)

o Watch Video Solution

120. Solve: % + 5 = +

IS

T
3

o Watch Video Solution



https://dl.doubtnut.com/l/_TrsZALHj6H0r
https://dl.doubtnut.com/l/_9IVJOoJXe8eO
https://dl.doubtnut.com/l/_s2bcix5zc3yl

121. Express the following statements by
equations :
The sum of two numbers is 91 and the smaller

one is 30.

o Watch Video Solution

122. Express the following statements by
equations :
The sum of two numbers, one of which is less

than the other by 5, is 23.

| & I


https://dl.doubtnut.com/l/_WTbcsPOVIU3O
https://dl.doubtnut.com/l/_76h6uI4ELmVt

| ¥ Watch Video Solution |

123. Express the following statements by
equations :

The sum of three consecutive integers is 36.

o Watch Video Solution

124. Express the following statements by
equations :
The sum of three consecutive even integers is

72.


https://dl.doubtnut.com/l/_76h6uI4ELmVt
https://dl.doubtnut.com/l/_Ta5Up9xBXmQM
https://dl.doubtnut.com/l/_BQJJBMDI0X2m

° Watch Video Solution

125. Express the following statements by

equations :

The sum of two numbers is 41 and their

difference is 21.

o Watch Video Solution

126. Express the following statements by

equations :


https://dl.doubtnut.com/l/_BQJJBMDI0X2m
https://dl.doubtnut.com/l/_UaufSY6L4uEP
https://dl.doubtnut.com/l/_Q2eyZ4IL5XkO

The sum of the ages A and B is 25 years, the

age of A is less than that of B by 5 years.

° Watch Video Solution

127. Express the following statements by
equations :

On subtracting 22 from a number we get 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q2eyZ4IL5XkO
https://dl.doubtnut.com/l/_0JT1RoyGyngi

128. Express the following statements by
equations :

Each one of three boys had the same amount
of money. They together gave Rs 25 to a poor

student and are left with only Rs. 5.

o Watch Video Solution

129. Express the following statements by

equations :


https://dl.doubtnut.com/l/_huEGde5xpnWF
https://dl.doubtnut.com/l/_4aKwZOEmjl1h

A man distributed his savings equally among

his four sons and each son received Rs. 300.

o Watch Video Solution

130. Express the following statements by
equations :
If the price of a duck is 15 times that of an egg,

the total price of 3 ducks and 10 eggs is Rs 110.

o Watch Video Solution



https://dl.doubtnut.com/l/_4aKwZOEmjl1h
https://dl.doubtnut.com/l/_tPd3lKvEglmu

131. Express the following statements by
equations :
One-thrid of x rupees added to 10 rupees

becomes 25 rupees.

o Watch Video Solution

132. Express the following statements by
equations :
Adam is x years old. Eve is younger than Adam

by 5 years but the sum of their ages is 'a' years.

| & I


https://dl.doubtnut.com/l/_wB7mr0AYa5n3
https://dl.doubtnut.com/l/_vWJaapXIe7FZ

| ¥ Watch Video Solution |

133. Express the following statements by
equations :
The sum of two numbers is 53 and the

difference between them is 3.

o Watch Video Solution

134. Express the following statements by
equations :

The perimeter of a rectangle is 40 metres and


https://dl.doubtnut.com/l/_vWJaapXIe7FZ
https://dl.doubtnut.com/l/_4PpQxbQlQBZ1
https://dl.doubtnut.com/l/_D9iaRDdDOZlG

its length exceeds 5 times of its breadth by 2

metres.

o Watch Video Solution

135. Express the following statements by
equations :

While purchasing a bicycle, 500/- was paid in
cash and the remaining amount was paid in
four equal instalment. A total of 900/- is thus

paid.

o Watch Video Solution



https://dl.doubtnut.com/l/_D9iaRDdDOZlG
https://dl.doubtnut.com/l/_FcIZ0SShSx5R

136. Express the following statements by
equations :

The sum of the degree measures of the three
angles of a triangle is 180°. The measure of
the 2nd angle is twice that of the 1st and

exceeds the thrid angle by 40°.

° Watch Video Solution

137. Express the following statements by

equations :


https://dl.doubtnut.com/l/_FcIZ0SShSx5R
https://dl.doubtnut.com/l/_3OjSjA19w3Er
https://dl.doubtnut.com/l/_cv8gcq0gSa9t

The present age of a man is 37 years and that
of his son is 7 years. After x years, the man's

age will be 3 times his son's age.

o Watch Video Solution

138. Express the following statements by
equations :

As age is thrice of B's age when B's age will
double, the sum of their ages would be 36

years.

o Watch Video Solution



https://dl.doubtnut.com/l/_cv8gcq0gSa9t
https://dl.doubtnut.com/l/_AasZvsWrBrXg

139. Express the following statements by
equations :
The sum of Rs 1200 and six times the monthly

expenditure of a businessman is Rs. 9000.

° Watch Video Solution

140. When a number is multiplied by 3 and
then added to 4, 31 is obtained Express this as

one equation.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_AasZvsWrBrXg
https://dl.doubtnut.com/l/_EYmTidllbjDe
https://dl.doubtnut.com/l/_1vhzOAqahwNt

141. Your money bag contains Rs. 5 , this
together with the money in Rahim's money
bag amounts to Rs. 12. Express the statements

as an equation.

° Watch Video Solution

142. The sum of two numbers is 78 and one
number is double the other. From this

statement form an equation.



https://dl.doubtnut.com/l/_1vhzOAqahwNt
https://dl.doubtnut.com/l/_PwHxsD2aH08s
https://dl.doubtnut.com/l/_Ql9tAUiw2A4k

Watch Video Solution

143. The sum of three consecutive even

integers is 48. Express this by an equation.

° Watch Video Solution

144. Solution of equational problems:
A number exceeds another by 4 and the sum

of the two numbers is 64. Find them.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ql9tAUiw2A4k
https://dl.doubtnut.com/l/_dqkdpzsB84en
https://dl.doubtnut.com/l/_fHwqGslLsLRp

145. Divide 78 into two numbers such that one

of them is the double of the other.

o Watch Video Solution

146. A number is three times of another
number. If 7 is substracted from the greater,

the smaller increases by 3. Find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_fHwqGslLsLRp
https://dl.doubtnut.com/l/_qeIMVRIRJJa0
https://dl.doubtnut.com/l/_cCvasOFVBQW8
https://dl.doubtnut.com/l/_qPHDCozFi2gT

147. The sum of three consecutive even

numbers is 54. Find the numbers.

° Watch Video Solution

148. Kripabar posesses coins worth Rs. 25.40.
Some of these are 50 paise coins and the rest
are 10 paise coins. What is the number of
coins of each kind he possesses? It is given
that the he has 8 more 10 paise coins than 50

paise coins.

° Watch Video Solution



https://dl.doubtnut.com/l/_qPHDCozFi2gT
https://dl.doubtnut.com/l/_cLYrmfzxXBTD

149. Of three consecutive (whole) numbers
twice the least exceeds the greatest one by 23.

Find the three numbers.

o Watch Video Solution

150. A man spent Rs. 15.75 in purchasing some
tickets worth 60 paise and 45 paise
respectively. On counting it was found that

there were 7 more 45 paise tickets than 60


https://dl.doubtnut.com/l/_cLYrmfzxXBTD
https://dl.doubtnut.com/l/_ypuSnrZmuuTf
https://dl.doubtnut.com/l/_yj8jcMnsBFCf

paise tickets. Find the number of tickets of

each kind.

° Watch Video Solution

151. A number exceeds another number by 2.5
times.The smaller number exceeds 4 times of
the greater number by 9. Find the two

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_yj8jcMnsBFCf
https://dl.doubtnut.com/l/_nS9fXT5K2Z7P

152. Divide Rs. 18,500 among AB and C such
that C gets Rs. 1500 more than B and A's share

is twice of C's.

o Watch Video Solution

153. Janhu is twice as old as Indra. Six years
ago Janhu was four times as old as Indra. Find

their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZjVZYxTKxO9z
https://dl.doubtnut.com/l/_gmn8Dv0jyvN8
https://dl.doubtnut.com/l/_26uDKh1jKRG3

154. The greater of two numbers exceeds the
smaller by 8. Five times of the greater number
exceeds 6 times of the smaller one by 20. Find

the two numbers.

o Watch Video Solution

155. The sum of the degree measures of the
three angles of a triangle is 180. The measure
of the 2nd angle exceeds that of the 1st by 8

and the measure of the 3rd angle is twice of


https://dl.doubtnut.com/l/_26uDKh1jKRG3
https://dl.doubtnut.com/l/_GgHBO9erE435

that of the 2nd. Find the measure of each

angle.

° Watch Video Solution

156. The distance between two cars is 456 km.
If the two cars approach each other at the
speed of 42 km. per hour and 34 km. per hour
respectively, find after what time they will

meet.

° Watch Video Solution



https://dl.doubtnut.com/l/_GgHBO9erE435
https://dl.doubtnut.com/l/_QA2vizgS0NJg
https://dl.doubtnut.com/l/_TyZzGd4VCKXH

157. The length of a rectangle is 3 metres more
than twice of its breadth. If its perimeter be 72

metres, what is the length.

° Watch Video Solution

158. A man invested a certain amount of
money at 4% simple interest p.a and thrice of
that amount at 5% p.a. for a year and earned
Rs. 228. Find the two amounts invested by the

man.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_TyZzGd4VCKXH
https://dl.doubtnut.com/l/_ioMcW9zM5B9q

159. The sum of the twice of the first and the
thrice of the third of three consecutive
integers is less than six times of the second by

20. Find the three numbers.

° Watch Video Solution

160. At present a man is older than his son by

28 years. 12 years hence his age will be twice


https://dl.doubtnut.com/l/_ioMcW9zM5B9q
https://dl.doubtnut.com/l/_ovAfVTJqGAQT
https://dl.doubtnut.com/l/_yDRgCHSHWaNT

the age of his son. What are their present

ages?

° Watch Video Solution

161. After 8 years a boy's will be 3 times of what
was his age 4 years ago. What is his present

age?

° Watch Video Solution



https://dl.doubtnut.com/l/_yDRgCHSHWaNT
https://dl.doubtnut.com/l/_vZpLDPOIqg5a

162. A man advanced as loan a part of Rs. 2500
at 5% simple interest p.a. and the remaining
amount at 6% simple interest p.a., he earned
Rs. 136 as interest in one year. What amounts

did the man inverst in the two kinds?

o Watch Video Solution

163. From Borjhar Air Port of Guwahati two
aeroplanes took off simultaneously, one

towards the east with the speed of 720 km.


https://dl.doubtnut.com/l/_qYwWqiTf11EI
https://dl.doubtnut.com/l/_OgWgcWwuQSPR

per hour and the other towards the west with
the speed of 880 km. per hour. After how many
hours will the two aeroplanes be 4000 km.
apart? Solve the problem by forming an

equation.

o Watch Video Solution

164. 3 is added to a certain number and this
sum is multiplied by 2 , the number so
obtained is equal to the difference of the first

number and 9. What is that number?

| e |


https://dl.doubtnut.com/l/_OgWgcWwuQSPR
https://dl.doubtnut.com/l/_pOWGu4SAskiP

& Wwatch Video Solution I

165. The perimeter of a rectangle is 200 cm. If
its length is three times of its breadth, find the

length and breadth of the rectangle.

° Watch Video Solution

166. Each side of a square is increased in
length by 2 cm. and thereby its new area
exceeds its original area by 20cm?. Find the

side of the square.


https://dl.doubtnut.com/l/_pOWGu4SAskiP
https://dl.doubtnut.com/l/_8iHD56AcFTHG
https://dl.doubtnut.com/l/_wTg7f8IucVAg

° Watch Video Solution

167. A's savings exceeds three times of B's
savings by Rs. 5. Again C's savings is two times
A's savings. They three together saved Rs. 755.

Find the savings of each.

o Watch Video Solution

168. A rectangle is of dimensions 12 metres x 5

metres. If the second dimension of the


https://dl.doubtnut.com/l/_wTg7f8IucVAg
https://dl.doubtnut.com/l/_akf4dHN6gDCJ
https://dl.doubtnut.com/l/_CGZaaz5UGTSI

rectangle is increased by R metres and the
first dimension is decreated by 2 metres, its

area does not change. Find the value of R.

o Watch Video Solution



https://dl.doubtnut.com/l/_CGZaaz5UGTSI

